
https://www.passapply.com/1z0-1067-21.html
2024 Latest passapply 1Z0-1067-21 PDF and VCE dumps Download

 

 

 

1Z0-1067-21Q&As

Oracle Cloud Infrastructure 2021 Cloud Operations Associate

Pass Oracle 1Z0-1067-21 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/1z0-1067-21.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

Latest 1Z0-1067-21 Dumps | 1Z0-1067-21 PDF Dumps | 1Z0-1067-21 Exam Questions                               1 / 4

https://www.passapply.com/1z0-1067-21.html
https://www.passapply.com/1z0-1067-21.html
https://www.passapply.com/1z0-1067-21.html


https://www.passapply.com/1z0-1067-21.html
2024 Latest passapply 1Z0-1067-21 PDF and VCE dumps Download

QUESTION 1

You have been asked to set up connectivity between a client\\'s on-premises network and Oracle Cloud 

Infrastructure (OCI). The requirements are: 

Low latency: The applications are financial and require low latency connectivity into OCI. 

Consistency: The application isn\\'t tolerant of performance variation. 

Performance: The communications link needs to support up to 1.25 Gbps. 

Encryption: The communications link needs to encrypt any data in transit between the on-premises 

network and OCI Virtual Cloud Network (VCN). 

The client wants to implement the above with as low a cost as possible, while meeting all of the 

requirements. What should you suggest? (Choose the best answer.) 

A. Provision FastConnect with a single private virtual circuit, and run an IPsec VPN tunnel over the top of this virtual
circuit. 

B. Provision FastConnect with a single public virtual circuit. 

C. Provision a site-to-site IPsec VPN between your on-premises network and your virtual cloud network (VCN) using
VPN Connect. 

D. Provision FastConnect with a single private virtual circuit. 

E. Provision FastConnect with a single public virtual circuit, and run an IPsec VPN tunnel over the top of this virtual
circuit. 

Correct Answer: D 

Reference: https://docs.oracle.com/en-us/iaas/Content/Network/Concepts/fastconnectoverview.htm 

 

QUESTION 2

You are using the Oracle Cloud Infrastructure Command Line Interface to launch a Linux virtual machine. You enter the
following command (with correct values for all parameters): The command fails. 

Which is NOT a valid parameter in this command? (Choose the best answer.) 

A. –t  
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B. – –image-id  

C. – –shape “andlt;shape_name>” 

D. –c  

E. – –subnet-id  

Correct Answer: A 

 

 

QUESTION 3

You have been monitoring your company\\'s applications running in Oracle Cloud Infrastructure (OCI) and notice that
the application is using OCI Traffic Management service. This service uses a traffic steering policy to distribute the DNS
traffic based on subnet addresses in a rule set. 

Which steering policy is in use in this particular case? (Choose the best answer.) 

A. Load Balancing policy 

B. Geolocation steering 

C. ASN steering policy 

D. IP Prefix steering 

Correct Answer: C 

Reference: https://k21academy.com/1z0-997/traffic-management-in-oci/ 

 

QUESTION 4

You run a large global application with 90% of customers based in the US and Canada. You want to be able to test a
new feature and allow a small percentage of users to access the new version of your application. 

What Oracle Cloud Infrastructure Traffic Management steering policy should you utilize? (Choose the best answer.) 

A. Load Balancer 

B. IP Prefix steering 

C. ASN steering 

D. Geolocation steering 

Correct Answer: D 

Reference: https://docs.oracle.com/en-us/iaas/Content/TrafficManagement/Tasks/trafficmanagement.htm 
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QUESTION 5

One of the compute instances that you have deployed on Oracle Cloud Infrastructure (OCI) is malfunctioning. You have
created a console connection to remotely troubleshoot it. 

Which two statements about console connections are TRUE? (Choose two.) 

A. It is not possible to use VNC console connections to connect to Bare Metal Instances. 

B. VNC console connection uses SSH port forwarding to create a secure connection from your local system to the VNC
server attached to your instance\\'s console. 

C. It is not possible to connect to the serial console to an instance running Microsoft Windows, however VNC console
connection can be used. 

D. For security purpose, the console connection will not let you edit system configuration files. 

E. If you do not disconnect from the session, your serial console connection will automatically be terminated after 24
hours. 

Correct Answer: BE 
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